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bas-badan

1.sehirli halga 6x=6x
2.6v=12x
3(1x,1v)*6=18
4.(2x,1v)*6=24
5.(3x,1v)*6=30
6-9.30x
10.(14x,1v)*2=32
11.32%
12.(15x,1v)*2=34
13.(16,1v)*2=36
14.(5¢,1v)*6=42
15-20.42x
21.(21x,1v)*2=44
22-23,44x
24.(21x,1A)*2=42
25.(5%,1A)*6=36
26.(4x,1A)*6=30
27-(3x,1A)*6=24
28.(2x,1A)*6=18
29.(1x,1A)*6=12
30.6A. *
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6 zencir ¢ak geri don ‘
5 hilma toxu
6 sira =10x bitti. ' |
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1.6X

2.6v=12 2
3.(1v2x)*4=16 . g
44-8.16x \ | E

&,
9.4A=12x £ |

10. 12x-b|rg ng W
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qulaqglar
sehirli halgaya
Thdc, 2dc, Thdc -bitti
burun-6x-6v-12x.
gozlari 8-9 sira arasina
4x olaraq taxgRrs:




